4. ThiEv

A
BE% BEL
BHEl 0 0
BH2 10 0
BEI 0 0
BmEL 0 0
®|Es 28
B%6 0
BHET 8
BHS_ 0
L |
p=0. 181
5. B BOR
75 tR
BEE BRE
@aFEl 81 0
BE2 9 0
BE3 20 0
BEL 0 0
@|ES 50
BHEe 2
BET 50
BES 11
L |
p=0.014
6. LABRKL
75tR
IBREX BEE
BE 0 0
BE2 0 0
BH] 0 0
BEL 0 0
@|ES 50
BE 2
BET 50
B|ES |
L |
p=0. 105

xtER1
Xt HE2
xtHE3
x4

xR
xt HE 2
XtHE3
it 4

A1
xfHE2
XHHE3
x4

BIEBERE
REX BER
BHEL 12 0
BE2 10 0
BHEI 0 0
BHEL 0 0
BHES 3
BHEE 0
BET T
BES 0
L
p=0.106
BEBERE
BREX BEX
BHEl 0 0
BHE2 29 0
BHEI 11 0
BEL 0 0
BHE5 0
BHEE 2
BET 8
BHES 10
L |
p=0.058
BEREEE
- BEBEEBER
BHEL 50 0
BEI 20 0
BEI 0 0
BEL 0 0
BHES 0
BE6 8
BET 20
BES 14
[
p=0.058

xR
R HR2
xPHE3
*fHe4

X B
PILY)
*fHR3
Hf R4

*fHE1
XfHE2
MHE3
*fHR4

(KBEEE
BE% BE%
BEL 0 0 xfHEEI
®F2 19 0 xiiE2
®BEI 0 0 xfHE3
BEL 0 0 xfHa4

BFS 0

BHE6 0

BHET 50

BES 0
L |

p=0. 293

KRR
BEX BER

BHEl T3 0 XtHERI

BHE2 0 0 xtHA2
BFE3 40 0 *tHE3
BEL 9 0 xtHE4
BES 14
HBHE6 3
BET 60
BHEs_ 0
L1
p=0. 030
BEERERE
BB RER
BHEL 8 0 XERI
BE2 0 0 xtHA2
BE3 0 0 xtHE3
BEL 0 0 xtHE4
BES 6
BHEE 5
BET 50
BES 0
L1
p=0.106

* BREIZIIMann-¥hitney U test ZfEMH. p<0.05DHDITIETHR.

—150 —




7. &MEVYEUTS

7ItR

BEE BER
BHEl 0 0 Xl
BE&E2 0 0  XtHE2
BHE3 0 0  XjfE3
BHEL 0 0 XHR4
BES 0
BE6 0
BET 11
BES 0

L1

p=0. 480
8. H¥ELW

75+

BER BBEE
BHED 96 0  XHdl
BE2 0 0 XiHE2
BHEI 46 0 xtHE3
BHEL 0 0  XtHR4
BES 0
BHEE6 0
BHET 1
HBES 20

L |

p=0. 106
9. &5 &

75K

BEX BER
BHEL 0 0 XEE1
BHE2 0 0  XjEd2
BHE 38 0 XHHE3
BHE4 0 0 Xifg4
BHES 0
BE6 0
BET 12
BHES 0

L 1

p=0. 293

BUERERE
BEE BEE
BEL 0 0 xtidl
BE?2 0 0 XtEE2
BHEI 0 0 xfHE3
BHL 0 0 XHe4

BES 0
BE 0
BET 6
B#ES 15
(I
p=0. 293
BKREREE
BEX RER
BEl T8 0 XtHE1
BE2 0 0 XtHE2
BEI 0 0 xfHE3
BEL 0 0 XHE4
BE 0
BE6 5
BET T
BES 0
L 1
p=0. 181
R {EE S R
IRER BEX
BHFEL OO0 0 XtH&1
BE2L 0 0 xtHg2
B&EI 0 0 AfHAZ
BFEL 0 0 Xifd4
BES 0
BE6 0
BHET 12
BHES 0
L 1
p=0. 480

_RIREEIRE
HRE% BB
BEL O 0 MERL
BEL 0 0 AtEE2
BE3 0 0 KHEES
BEL 0 0 xtHg4

BES 0
BEE 0
BHET 11
BES__0
L |
p=0. 480
(IR SRR
Lol 5 23
BEL 58 0 A
BEL 0 0 X2
BEI 0 0 XEE3
BEL 0 0 xthe4
BES 0
BHEE 2
BET 30
BES__19
(I
p=0. 106
(KR e R B8
IRk W%
BEL 0 0 xRl
BEL 0 0 XfHg2
BE 0 0 X3
BEL 0 0 XfHR4
BES 0
BE6 0
BET 10
BEI_O0
L
p=0. 480

* BREIZIIMann-Whitney U test ZH. p<0.050HDITITTFHE,

— 151 —




10. IRORE

75K

BEX BEE
BEL 0 0 xfHgl
BE2 0 0  XfHE2
BEI 0 0 xfHE3
BEL 0 0 xfig4
BFs 0
BEE 0
BET 10
BHES 0

L 1

p=0. 480
11. BEORREK

75t

BE% BER
BHEL 0 0 g1
BEr 0 0  xjHEE2
B8#3 11 0  xfHE3
BmFEL 0 0 xjHE4
BHES 0
BE6 0
BET 11
B|BFES 0

L |

p=0. 294
12. HEXK

75tR

BE% BRI
BHEL 80 0  xfHE81
BFEL 0 0 x$HE2
B3 20 0  xfHE3
BEL 0 16 Xifa4
BES 0
BEE 0
BET 9
BES 0

L1

p=0. 181

BERERE
RBR REE
BEL 0 0 xfHEl
BEL 0 0 xfH&2
BHE 0 0 xfHA3
BHEL 0 0 xiHE4

BHES 0
BES 0
BET 10
BHES 0
L 1
p=0. 480
BIKBERE
BE% BER
aH&l1 50 0 XHdl
BEL 0 0 xjHEA2
BHE 4 0 xfHdE3
BEL 0 0 XiEE4
BHES 0
BE6 1
BET 10
BHES 0
L
p=0.106
BKIBERE
REE BBE
BEl 5 0 XHERI
B2 0 0 xfHE2
BEI 0 0 xfH&3
mFEL 0 0 xjHB4
BES 0
BHE6 0
BET T
BHES 0
L 1
p=0. 296

_KIREERE
BE% BER
BHEL 0 0 XHRI
BEL 0 0 x}HE2
BHES 0 0 XHEE3
BFEL 0 0 XtEE4

BES 0
BEE 0
BET 10
BES 0
L
p=0. 480
KBERE
BEX BEE
BEL 0 0 X8RI
BE2 0 0 XfHEAE2
BHEI T 0 xfEE3
BEL 0 0 XHEE4
B 0
BE6 3
BHET 9
BHES 0
[
p=0. 181
(KBERE
BBR REER
BEl 0 0 XfER1
BH2 0 0 xfHEdE2
BEI 0 0  XHEE3
BEL 0 0 xjHE84
BE 0
BE6 0
BET 10
BES 0
L 1
p=0. 480

* BE 12 1IMann-Whitney U test ZfA. p<0.05DHDITILTH.

— 152 —




13. K[FLHAEN
75tk
BER BER

®mEL 80 0 XHERI

BHE2 0 0 XtEE2

BHE3 50 0  X}HE3

BFEL 0 15  Xtid4

BHES 0

BEE 0

BHET 9

BES 0
L 1

p=0.613

14. ENRR—ET B
75+R
BE% BEX

BEl 97 0 XERI

BE2 0 0 XtHg2

#BH3 51 0  XiHE3

B|FEL 9 30 xfHE4

®|ES 33

BE6 3

BET 12

BHES 18
[
p=0. 101

15, IRW, H<UVHNHB
TR
IRBEE REE

BEl 0 0 XERI

BEL 0 T XEA2

B#EI 19 0  XfpE3

BEL 0 11 xtHR4

BFES 13

BE6 3

BET 27

BHES 0
L
p=0. 717

(KRR (SR IREE
IR BB RER RBE
BmEL 66 0 AEEI BHEL 38 0 A
BEL 0 0 xtfE2 BE2 0 0 XHE2
BEI 6 0 M3 BES 0 0 XfHE3
BEL O 15 xifg4 BEL 0 0 AfHe4
BES 0 BES 0
BE 2 BE6 2
BET T BET 0
BES__0 BES__0
L1 | |
p=0.570 p=0. 181
ERERE FIREEIRE
TRt WEH BBk BRE
BEL 96 0 XL BFEI T2 0 xRl
BE2 11 6 A2 BE2Z 0 0 AHE2
BHE3 59 0 XfHE3 BEI 39 0 XfHE3
BEL 0 15 X484 BEL 7T 25 X4
BES 6 BES 38
BEC 6 BEE 4
BET 10 BET 10
BES__12 BES__18
L |
p=0. 141 p=0.070
JECHR RS R R IR R
RER R MRER TR B
B&L 50 0 i1 BF1 8 0 Xl
BEL 27 9 K2 EF2 0 0 XEE2
BHE3 50 0 XfHE3 BHE3I 0 0 AHE3
BEL 0 20 xtHR4 BEL 0 0 Kffe4
BmES 6 BES 40
BEE 4 BEC 2
BET 8 BET 30
BES__ 2 BHE__18
1 | |
p=0. 392 p=0. 058

* BRAEIZIIMann-Whitney U test ZH, p<0.050 b DITITFH,

— 1563 —




16. WS EB&EMK

75t
BEX BER
B/Fl 0 0 Xl
BEL 0 0 XtHA2
BE3 10 0  xfHE3
BHEL 0 0 xfHE4
BES 0
BHE6 0
BHET 10
BHES 0
L1
p=0. 294
17. BEMREBN
75+R
REE ER1
BE 88 0 XfERL
BE2 40 0  xfHE2
mE3 33 0 xfHE3
mEL 0 0 xfHa4
BES 10
B&EE 0
BET 11
BES 18
L
p=0.030
18. BEAKET
75t
RE% BB
BEL 90 0 xfHgdl
BH2 0 0 XjHEA2
BES 20 0  XtHE3
BFEL 0 1 xfHE4
BE5 11
BEG 0
BET 12
BmHES 0
L 1
p=0. 256

KRR
BEX BER
BHEl 5 0 xfH81
BHE2 0 0 xfHE2
BES 0 0 xfHE3
BHEL 0 0 xfH&4

BHES 0
BHE6 0
BHET 8
BES 1
L 1
p=0. 181
(KBERE
BE®% BER
BEl 94 0 X1
BEL 0 0 xfHA2
BE3 50 0 xfHa3
@BEs 0 12 x84
BHES 0
BEE 6
BET T
BES 0
L1
p=0. 449
BIKBE
L3247 £3
BEl 83 0 X1
B 0 0 xfHR2
BE3 14 0 xfHE3
B/FL 0 0 xfH&4
BES 0
BHEE 0
BHET 8
mES 0
L1
p=0. 181

KEBERE
BE% BBE
BEL 0 0 xfERI
BHE2 0 0 XfEE2
BHEY 0 0 XHEE3
BHEL 0 0 0 x4

BE 0
BE6 0
BHET 10
BHES 0
L
p=0. 480
BEERE
BEX BB%
BEL 68 0 XfEEL
BEL 8 0 xjHA2
BEI 17 0 XHE3
BHEL 4 0 XfHEE4
BES 50
BEE 3
BET 30
BHES 0
L 1
p=0.014
_EREIRE
BE% BE%
BEl 64 0 xfHEI
BE2 0 0  XfHEA2
BEI 10 0 xfHE3
BFEL 0 0 XjHE4
BE;5 9
BES 0
BET 20
BES 0
L 1
p=0. 106

* B EIZIIMann-Whitney U test Z{@ A, p<0.05DHDITIITH#R.

— 154 —




19. SHOBEWREU
7R
BE% BEE
BFEL 91 1
BEL 0 0
BE3 26 0
BEL 8 0
BES 20
BEE 0
®BET T
BES 8
L |
p=0.052
20. FEB
7R
BEX BER
#sE 7 0
BEL 0 0
BE3 22 0
BEL 8 0
BES 7
BE 0
BHET 12
BES 0
L |
p=0.058
21. HFEW
7TIth
RBR BREE
BHEl 50 0
BE2 0 0
BHEI 0 0
BE4L 0 33
BES 0
BE6 0
BET 8
BES 0
L 1
p>0. 999

XPHE1
Xt i 2
xfHE3
xtHE4

xtHE 1
gy
XHHE3
xfHR4

MR
xfHE2
POLER)
XfHR4

BIEBRERE
BEXBER
BHE1 83 0 xfHgIl
£E2 10 0 XihE2
BE3 46 0 X$HE3
BE4 0 0 XiHe4

BES 5
BE6 4
BAET 8
mES 1
I
p=0.014
KR EEE
BEX BER
BEL 10 0 xtHEIL
BE2 0 3 xHER2
BEI 0 0 xfHEE3
BEL 0 0 xfBE4
BES 0
BHEE 3
BET 8
BES 1
(S
p=0. 393
BERERE
BER WEE
BHEl 67 0 XtERI
BHEL 0 0 XtHE2
BEI 0 0 K83
BEL 0 0 x4
BES 0
BEE 0
BET 10
BES 1
L 1
p=0. 181

KEBERE
BEXBER
BEl 55 0 il
BEL 0 0 xjHEE2
BEI 25 0 nfHE3
BFEL 6 32 %fHEd4

BES 8
BE6 3
BET 40
BFES 10
(I
p=0. 142
EEBERE
BEX BER
BEL 2 0 xfHEI
BEL 0 0 xfHE2
BHEI 0 0 XfHE3
BEL 6 0 XEE4
BES 0
BE6 2
BET 60
BES 0
[
p=0.105
(KIBERE
MREE REE
BHEl T 0 =1
BFL 0 0 xfHE2
BHEI 0 0 xfHE3
BHEL 0 0 xfHE4
BE 0
BEE 0
BET 80
BER 1
[
p=0.181

* KREIZiIMann-Whitney U test ZfEH. p<0.05DHDITIETFHR.

— 155 —



22. /3\69%
75&R
BRI RER
B&l 50 0 8l
BEL 0 0 fHE2
BEI 0 0 X3
BEL 0 20 xtHE4
BES 0
BES 0
BET 20
BES_0
(N
p=0.911
23. BB, hoH
75t&R
BRI BB
BEL 50 17 %1
B&L 93 0 xtER2
BEI 0 0 83
BFEL 0 0 xifg4
BES 10
BE6 0
BHET 9
BHES_ 0
L
p=0. 449
4. OPDEDEE
75k
BRI BRI
BEL 100 0 XEEL
BE2 9 0 xfHd2
B#EI 53 0 XHES
BEL 6 40  HR4
B#ES 50
BEE 0
BET 10
BES_ 0
R
p=0.160

B
B2
B3
B
BES
BE6
BET
BES

BE1
B
BH3
B
BHES
5 E
BET
B&S

BE]
B
BHE3
B
BES
BE6
BAT
BHES

B{ERE R
BER RBER

89 0 XH&L
0 0 X2
7 0 X3
0 0 XfH4
0

0

7

I

1

p=0. 105
BEBERE
SRERTE RER

50 20 i
0 0 X2
0 0 X3
0 0 R4
23

0

10

0

L
p=0.613
BCRERREE
Lyl 3 4
100 0 Xl
§ 0 AiEER
21 0 AHEES
0 18 xfHe4
0

3

10

0

I

p=0. 319

BRI
MREETE IS
BHEL 2 0 il
BEL | 0 xifg2
BEI 0 0 xHHE3
BEL 0 0 x4

BES 0
BE6 0
BET 60
BES__0
L
p=0. 181
_BIRERE
B RER
BELT 62 35 AHEE
mE? 88 0 A2
BHE 0 0 XHE3
BEL 0 0 xifg4
BES 0
BEE 0
BET 10
BES__0
L
p=0.613
(IR R R
MR R RERR
BEL 88 0 A
BEL 0 0 XfE2
BE 0 0 A3
m#FL T 38 x4
BES 0
BEC 0
BET 50
BES__0
L
p=0. 613

* BEIZIIMann-Whitney U test ZfAH, p<0.05DHDITIT TR,

— 156 —




25. FROMIEWED

75+R
REX BER
BEL 0 0
BEL 1 0
BEI 0 0
BEL OO0 0
BHES 0
BE6 0
BET 10
BES 0
[
p=0. 296
26. FOfs
75th
BEX BEE
BFEL T3 0
BFEL 0 0
BEI 100 0
BE4 0 0
BE 0
BE6 0
BHET 1
BES 0
I
p=0. 181

pogiihl
oY)
p ok
pofiit!

xR 1
Xt B2
Xt B3
xit 4

BIEBERE
REBER BEE
BEL 96 0 X1
B%2 0 0 XtER2
BE 0 0 XtEE3
BEL 0 0 xfHE4

BFES 0
BEE 0
BET 10
BES 0
I
p=0. 296
BIEBERE
BRER BER
BFL 0 0 XtEE1
BFEL 0 0 XiERE2
B|E3 29 0 XxtHE3
BFEL 0 0 xtiR4
BES 0
BH6 0
BET 0
®BES 0
|
p=0. 480

(KIREERREE
IRBER RER
BHEL 0 0 XfHEL
BmEL 0 0 A
mES 0 0 A3
BEL T 0 X4

BES 0

BEE 0

BET 50

BES__O
L |
p=0. 296
(KR RE
BE% RER

BEL 19 0 xtHdl
BEL 0 0 XJHe2
BE3 0 XfHE3
g 50 xtHE4
BES
86
BET
BES

OO 3w

-
[Oo

p=0. 570

* REIZIIMann-Whitney U test Z&H, p<0.050HDITIT TR,

— 157 —





